
SAP ABAP table /DSD/SL_SLD_QDET_S {Settlement Document: Quantity Differences, Diff. Reasons}

_DSD_SL_SLD_QDET_S

CLIENT [CLNT (3)]

SLD_DOC_ID [CHAR (10)]

MATNR [CHAR (18)]

_DSD_SL_SLD_HEAD

CLIENT [CLNT (3)]

SLD_DOC_ID [CHAR (10)]
 /DSD/SL_SLD_QDET_S-SLD_DOC_ID = /DSD/SL_SLD_HEAD-SLD_DOC_ID 

0..N

1

_DSD_SL_SLD_QBAL

CLIENT [CLNT (3)]

SLD_DOC_ID [CHAR (10)]

MATNR [CHAR (18)]

 /DSD/SL_SLD_QDET_S-MATNR = /DSD/SL_SLD_QBAL-MATNR 
0..N1

T000

MANDT [CLNT (3)]

 /DSD/SL_SLD_QDET_S-CLIENT = T000-MANDT 

0..N

1


